f

§- 06763 A&A AZT SwE 15WA / ABh (02)3462-7213 ~ 4/ A% 3462-7210
AelPA  EAARAGHERZ), Y A8H, 9y 4dS

EAHE: EAQBEA Y -
Alglel =} 2015.12.
Ay EREA
2 x
A & FEARSERL
A" A A A
T A} 9 Ald s 2015.12.19.
AgHE: E533 (N0, ) AlEAHIA ZNEAAR: A 7 22
ANEETF Z(HESR) Al o) g 14 AlE A HAR g Y B
A#H5A: 2015.12.10. A= AFHAZE AmAHY:
2 % Density 2.741 g/a 2AAF P.1 NP A sk4] 0.M.C 10.5 (%)
MAA  Liquid Limit NP (%) =A=x%2w (CBR) 30 (%) ANAND(NEEHS) 13.9 (%)
2437 Plastic Linit NP (m(fﬂ”f%%\ 1.944 g/ AAFZ] 2.2 (%)
A7 e 5%
PERCENT PASSING OF
STEVTE ANAT.YSTS
A7 | 5 3 &
A2 = ;A (mm) (%)
GRADING CURVE OF SIEVE ANALYSIS 75 -
53 -
_ 37.5 -
E 26.5 -
ol =
n;i 19 -
oy 9.5 -
i 4.75 -
a 2.0 -
0 0.425 -
g9 7 0.08 -
Grading Size(mm) pan
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1053.6 DW: W D W
DV:  906.5 TW: 175.7|DW: ™W: :Dw:
Ww:  147.1Ws:  730.8|Ww: Ws: LR
W 20.1 W: |
Xg !
W 1098.4 DW: W DW: DY
DV:  944.17TW: 179.8|DN: v: v:
Ww: 154.3 Ws:  764.3|Ww: 0Ws: Ws:
W 20.2 W: ; W
Bt gl W%) 20.2 i
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i : NE i iy DIy
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SR | |
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Ww: Ws: Ws:
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L= R N
o AHAWE . E533 o AlFAA :2015.12.19.
o AlgH¥ : KS F 2312:2001 o 7%zt Hen 7 LY
O AFFE 1 Z(HESR) oA & A PEs A H Z
= A=) 8 B 37 2206.55 o AT 5967.1 g
8 2206.55 cif 5967.1 g
i T 12.741
(N 8+2=) 77 () 1| 10273.1 o | 10466.8 | 10625.7
I I
oA 27 (g) 4306.0 i 4499.7 i 4658.6
Aoy t(g/ar) 1.951 i 2.039 i 2.111
Ww: | 1192.8|DW: IWw: | 1233.1|DW: W : 1272.6|DV: |
DW: | 1141.7|TW: | 176.3;DW: | 1165.6|TW: |  197.8|DW: 1178.8|TW: | 179.8,
Ww: 51.1Ws:  965.4;1: 67.5Ws:  967.8|Ww: 93.8 Ws:  999.0;
W: 5.3 W: 7.0 W: 9.4
F o4 % | !
WW: | 1139.5[DW: lw: | 1202.5|D: W: | 1201.9(DV: !
DV: | 1094.2|Tw: | 180.2 |DW: | 1132.3|TW: | 178.6|DW: 1116.3|TW: | 175.7|
T 45.3 Wis: 914w 70.2Ws:  953.7|Ww: 85.6Ws:  940.6|
W: 5.0 W: 7.4 W: 9.1!
I
Bt 1] W(%) 5.2 | 7.2 | 9.3
AZWE Y d(g/er) 1.855 i 1.902 i 1.932
D &7 = | |
A x W = g/ap) . _E'_B%) ______ L __2'_2?9 _______ i___ __2'_15_54 ________
(N E+EZ) ) (g) 4 10709.9[ L5 ] 10718.6 i ] 10659.8
Ao 7 Al(g) 4742.8 | 4751.5 | 4692.7
Ao T Y t(g/ar) 2.149 | 2.153 | 2.127
WW: | 1238.2/DW: lww: | 1157.5DW: W : 1142.1/DW:
DV: | 1140.3| 204| 207.5/0W: | 1051.7|TW: | 175.2|pW: 1013.2/TW: | 179.9
Ww: 97.9Ws:  932.8)Ww: 105.8 Ws:  876.5Ww: 128.9 Ws:  833.3
W: 10.5; W: 12.1! W: 15.5!
¢ o v 5 3 -
WW: | 1220.4/DW: byw: [ 1190. 7|0V W 1115.6/DV:
DI | 1122.9|TW: | 207.4IDW: | 1085.7|TW: | 206.2[DW: 989.4|TW:|  179.5
Wor: 97.5Ws:  915.5|Ww: 105 Ws:  879.5Ww: 126.2 Ws:  809.9
: 10.6y I: 11.9; W: 15.6,
Bt gl Wi%) 10.6 i 12.0 i 15.6
Az % vd(g/an) 1.943 | 1.923 | 1.840
271 =
A 2.124 2.063 1.920
B I
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z9 A= A

o Al & ¥ & ¥533 o A ¥ 2 :2015.12.19.
AlE W KS F 2308:2006 WA A Hed % 2E
AlEF B S(HER) Al A dds 2 H 2
1. BT HA
= ! = k-2 1 2 H] 3L
v = " 9 H ol 23 41
Hl o & Wf (g) 81.715 76.403
HSH + /75 % Wai (g) 330.213]  325.982
Wais E%s W 2 Ti(C) 17.5 17.5
LE Tx(C) d v &0 I @
o Ti(C) o 1 B Wi 1.000160| 1.000160
Wai - Wf (g) ® 248.498|  249.579
ol &% (Tx)ol gk I3 %-m]H
im0 = Wax (g) = @ x 330.253]  326.022
2.8 F A 3
HSH + WAFZAR + B9 =
150+ 15+ 2o 3% 346.152 | 341.957
Wh(g)
e SA el vaxngHe
yeEe &% 0 Tx(T) . 16.6
wAZ A5 T Wo (g) 25.018 25.066
T(CH)Y o Wo
59 HlF = 2.744 2.745
(TC / TC) Wo + (Wax — Wb)
2rost &9 Uk (g/cr) 0.99884|  0.99884
%5 9 9 =(g/er) 2.740 2.742
g 4 # 2.741 (g/ct)
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HES ANEZ2UH
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59 4=/ 2%

o Aol 1 2015.12.19.

T 5 %
o 7=} HBE
72 H 2
o ATy A AUE

r
fol

dow  PESEE) )] 75 53 37.5 | 26.5 19 9.5 | 4.75 2 0.85 | 0.425| 0.25 | 0.106 | 0.075
— | JI™SWE®%) | 100.0 | 100.0 [ 100.0 | 98.4 | 97.7 [89.5 [81.8 | 71.5 | 56.3 [ 39.9 [ 30.6 20.8 17.0
HIEHA | < Z(M)| 0.044 | 0.031 | 0.020 | 0.012 | 0.008 | 0.006 | 0.003 | 0.001 | 0.0001
24 tzsns [ 107 | 99 94 g2 | 78 74 | 70 5.7 a
1
AL IFE B
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FAUAMNE(H24 ANE)

o AgHE ¢ E533 o AlgdA 20
o AFuH : KS F 2302:2002 o A&l A
o NdwYE  F(HES) oA & A
B NO.10XMIOIl B2 AIERE =2
4 DyAER
HHAIZS SIIAZR2AW) CAZXAIZI AIZ2H W)
A=z
ZH (MMBIHEANZ+ED]) 3843.5 ¢ W+ I1) 2 Al 1,476.9 ¢
SI12 759.2 ¢ SI12 759.2 ¢
HHUAIZO ZBIHZ2AW) 3084.3 ¢ W1 717.7 g
1. 2nmAl SUAIZS S=Hl =H
NO 1 NO 2
W 799.8 Ww 788.5
Ow 691.2 Tw 207.4 Ow 676.5 Tw 177 .4
Ww 108.6 Ws 483.8 Ww 112.0 Ws 499 .1
W= 22.4% W= 22.4%
el 22.4%
2. HAXZANZSAMWO) = W/ (1+w) 2519.0
3. 2mmAl SWUAEANZLHW2)= W2=IW0-W1 1801.3 ¢ 1801.3
4. P2.0(2Z2.0mmOll A2 JIXSWE)= W2/Wo 71.5% 60.2%
5. 2mmA 0l €2 A2 M=EA
H At 1 2 1 2=1/W0
_ - o FEVET ITEVE o | Ot |2m =
M goeds B8R goemg| ewmw | BFER | xss I8
75.0mm 1 437.10 437.10 0.00 0.0% 0.0% 100.0%
53.0mm 2 461.90 461.90 0.00 0.0% 0.0% 100.0%
37.5mm 3 471.60 471.60 0.00 0.0% 0.0% 100.0%
26.5mm 4 469.50 510.10 40.60 1.6% 1.6% 98.4%
19.0mm 5 456.80 474.30 17.50 0.7% 2.3% 97.7%
9.5mm 6 489.70 697.30 207.60 8.2% 10.5% 89.5%
4.75mm 7 524.00 716.90 192.90 7.7% 18.2% 81.8%
2.0mm 8 448.90 708.00 259.10 10.3% 28.5% 71.5%

* AZNZ20: 77.70 g




£ AZAIE(2.0mmA SU=E 24)

=
o AlFWE : E533 o Algdat 2015.12.19.
o AlEWH KS F 2302:2002 o 71&AYA © HBY # L¥
O NFFE I Z(HEL) oAl ¥ 2 AUES JHIL
(ZINAXZASHEI)2AH 692.09 g Eolst4=tl(w) : 20.2%
ZI|2A : 577.00 g Eoldx (Gs) : 2.7M
SIATZAZFAH W, : 115.09 ¢ 24X (PI) - N.P SAH - AMUESE
AXAIZS2H : Ws=100Ws /(100+w) : 114.86 ¢
P2.0(2H2.0mmolMe JIEENE: 71.5%
1. 2IAHZAIZO &4H = (XA 4=H|)
NO @ 1 NO : 2 NO : 3
WW = 1053.6 WW = 1098.4 W =
oW = 906.5 Tw = 175.7 oW = 944 .1 Tw = 179.8 oW = Tw =
Ww = 147 .1 Ws = 730.8 Ww = 154.3 Ws = 764.3 Ww = Ws =
W= 20.1% W= 20.2% W=
Yot o 20.2%
2. HISH A8
—x 2 DEAI 2 [EEE EEENtEEES i o~ . M=o EE0
SN t(min) [ A== r saoltm | L[/ t L/t + (30n)/g(rs-rw) | =ICHS ZD(mm) SEASE =84+ riF RS aE M)
10:21 1 0.0230f 0.0230 124.9 124.9 11.1755 0.0039 0.0437 25 0.0020] 0.0250 34.2% 10.7%
10:22 2 0.0210] 0.0210 128.8 64.4 8.0237 0.0039 0.0314 25 0.0020] 0.0230 31.5% 9.9%
10:25 5 0.0200f 0.0200 130.7 26.1 5.1126 0.0039 0.0200 25 0.0020] 0.0220 30. 1% 9.4%
10:35 15 0.0170] 0.0170 136.5 9.1 3.0166 0.0039 0.0118 25 0.0020] 0.0190 26. 0% 8.2%
10:50 30 0.0160f 0.0160 138.4 4.6 2.1481 0.0039 0.0084 25 0.0020f 0.0180 24 .6% 7.8%
11:20 60 0.0150] 0.0150 140.4 2.3 1.5295 0.0039 0.0060 25 0.0020] 0.0170 23. 3% 7.4%
14:20 240 0.0140f 0.0140 142.3 0.6 0.7700 0.0039 0.0030 25 0.0020] 0.0160 21.9% 7.0%
10:20 1440 0.0110] 0.0110 148. 1 0.1 0.3207 0.0039 0.0013 25 0.0020] 0.0130 17.8% 5.7%
HUAHAS EX (Cm) : 0.0009 1:8H 282 Z0IAl =241.0000HXI 22 0l (m) 107.59
Ws/V (g/cm) : SEM 1ml & AZAIZ 2 2:2H 2o TOA =241.0507HKI2 2 0l (mm) 10.87
Lb : 8% 72 20| (mm) 136.84
1/(Ws/V)=  8.71 cm/g Gs/(Gs-0.99678)*rw 1.571 g/on Vb : BE 229 21)(er) 57.50
A HIAARIHS SHEHA (o) 58.84
3. MO8
H A 1 2 3=2-1 4=3/Ws 5 6 7=6xP2.0
- = H2A2+ | H2Al2
Al EJHs [EIIRH]| o5 o o &=E MRS RE IIRENE |BEHIIE S8
0.85mm(NO.20) 1 437.3 461.8 24.50 21.3% 21.3% 78.7% 56.3%
0.425mm(NO.40) 2 369.7 396.0 26.30 22.9% 44.2% 55.8% 39.9%
0.25mm(N0.60) 3 380.0 394.9 14.90 13.0% 57.2% 42 .8% 30.6%
0.106mm(NO. 140) 4 345.1 360.9 15.80 13.8% 71.0% 29.0% 20.8%
0.075mm(NO.200) 5 352.0 358. 1 6.10 5.3% 76.3% 23.7% 17.0%




CBRA o =

o AlFHE 533 o Al Az} 2015.12.19.

o A KS F 2320:2000 o A& HeHd HEE
° AREE L F(HER) oA @ A Pds EHS
5 AT E] (BoiA [Eem AN eil] 2o [Aedy| a0 [shed L] A0
= =

D olrmus| T M @ | @ | @ | @ | ® | @ | @

T g)

5X10 37 8680.5 | 4571.0| 4109.5| 2209.21] 1.860 | 10.5| 1.683 8

5X25 38 9027.4 | 4609.2| 4418.2| 2208.04] 2.001 | 10.5| 1.811] 25

5X55 39 9301.7 | 4630.6| 4671.1| 2201.71] 2.122 | 10.5| 1.920] 41
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PRI O

= = s “1:].’ A

o AW E :  E5H33 o A& 2015.12.19.

A o KS F 232012000 o 7|EAYA - H8H 7 2F
AdEE T S(HES Al 8z pds dHE

vl ol &k

T JL“Em‘?n)C’ 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
Ztg S 0 40.0 64.0 ga.0] 100.0] 114.0 126.0] 146.0 164.0 199.0| 231.0
=1

37 |SrEeEl 2.0 3.3 4.3 5.1 5.8 6.4 7.4 8.4 10.1 11.8
(kg f/
=7
?}Mﬁ/;f) 0 0.2000 0.320] 0.419] 0.499| 0.569| 0.629] 0.720| 0.819] 0.994| 1.154
?kg fT) 0 85.0] 169.0] 242.0 301.0] 351.0 390.0| 455.0| 510.0| 613.0] 697.0
=] == ]_

38 O(Ij:of 0 4.3 3.6 12.3 15.3 17.9 19.9 93.2 26.0 31.2 35.5
= e
?Mﬁ/‘r’m 0 0.424| 0.844] 1.208] 1.503| 1.753| 1.948| 2.272| 2.547] 3.061] 3.481
(Skg f) 0 81.0] 169.0] 268.0 367.0| 467.0| 558.0| 717.0| 848.0] 1022.0| 1153.0
st=7k e

39 O(E’;C’f/ 0 4.1 3.6 13.7 18.7 93.8 28.4 36.5 43.2 52.1 58.8
St=7k e
?ME/;Z) 0 0.404] 0.844] 1.338| 1.833] 2.332| 2.786| 3.580| 4.235| 5.103] 5.758
17 3 (2.5m) gg %100 = 8.3% 5. Omm 1Oo°83 <100 = 8.0%
42 3 (2.5m) é'g <100 = 25.4% 5. Omm 120°53 <100 = 24.7%
92 3 (2.5m) 523'8 <100 = 33.8% 5. Omm 140°23 <100 = 41.1%
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